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Reciprocal Identies

. 1 1
sintt = —— cosSuu=—— tanu = ——
CSC U sec i cotu

1 1 1
C8CUL = —— Seci = cotu = ——
sin it COoS 1L tanu

Pythagorean ldenties . e
yas Quotient Identities

sin2u+cos2‘u=1 ~
Shiv=l-cos'v sinu oS 1L
2 tanu = —— cotu=——

2. _ "
14 cot®u = csc”u COS 1 sinu

1+ tan?u = sec? u

Cofunction Identies

sin(%—u):cosu cos(%—u):sinu tzm(%—u):cotu
csc(;—u) = seci sec(g—u)zcscu cot(g—u) = tan u

Even/Odd ldenties

sin (-x) =-sinx  csc(-x) = -cscx
cos (-x) =cosx  sec(-x) =secx
tan (-x) =-tanx  cot (-x) = -cotx
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Il. Simplifying

EX;) .SinX‘__z(iOSz ,Sr"t‘.'.: Ex2) sint + cottcost
lax 2

i ostx - ) §/'47)<,LC0;2X I
I =cp h
"Sh,,,( cos'x) Siatk | .

(5'77x) s x
Srax

Ex3) tanx ¢sex _ fﬁlx - T S':’lx
CsFx T csex T —

Ex4) —R2 _ Ssix
1 - sinx COSX




January 15, 2014

HW #1 Evaluate all 6 trig functions

sinx=£ cosx = 1
2 2

HW #15 match trig expression

Sec X COS X a) sec x
b) -1
c) cot x
d) 1
e) -tanx
f) sin x

e
6.) Simplify —— 3¢

ﬁ:ﬁe t+¢sc& -}(p;"g-l




